A lump of radioactive material has a mass of X(t). Its mass slowly decays over time.


There are some live bacteria X(t) in a jar. Some bacteria are attacked by a medicine and die. Once dead, the medicine moves on to another target. During this process, the rest of the bacteria eat and replicate.


A ball is attached on opposite sides to pieces of elastic. The elastic is stretched out and one end fixed to the ground and the other end to the ceiling. The ball is pulled vertically down slightly and then released. Its displacement from the equilibrium is X(t)


A curling stone is slid along an ice rink. The distance travelled from the point of release is X(t). Frictional forces cause the stone gradually to come to rest.


Water is pumped from a lake at a constant rate. The volume of water in the lake is X(t)
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